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& 500 £EX3
2 510 R UEX3S
g: 511 2 NEXE3S (2l &)
H-a-8.-5 Oll &FoH & & 0] A oH Hlw =2t
500 EX3 5,047,526 6,766,096 A1,718,570
510 2NEXE2S 5,017,180 6,625,756 A 1,608,576
511 2N2X3S 5,017,180 6,625,756 A1,608,576
511-01 22X 3 4,025,611 4,061,170 A 35,559
[ =ZM& S35 ] 1,920,000 3,057,000 A1,137,000
< MBI TAIE A > 1,920,000 3,057,000 A1,137,000
OL% 2EaieAAE HBAY 500,000
OXHER stz FHi| 1,420,000
[ 922502329 SE3H | 145,511 102,570 42,941
< FUMESIAD > 145,511 102,570 42,941
o230 #FH X 4,000
OMIt 2220 AY 22,320
o=ol 2d s#332 (230 222) 2,200
ORYHl & Zojel 2837 2 X 44,100
Oo=el 2g 243 2,410
OALME S 28,100
02220 Z2lAte (Atal22ll) 42,381
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